

# احتياج الاجهزة المختبرية الخاصة بمراكز الدم ومستلزمات سيتات التبرع بمكونات الدم

## LAB-2025-4

١-شركة ديم الخليج

٣- جدول الاسعار (بمستلزمات والاجهزة المختبرية) التي سيتم تسليمها من طرف الشركة

6	5	4	3	2	1	
المسعر الإجمالي DDP الى مكان المستخدم النهائي مع الخدمات التقوية (د) * 3	سعر الوحدة بالدولار الأمريكي	بلد المنشأ	الكمية المتقدمة للوحدة	وصف موجز للاجهزة المطلوبة والمواصفات الفنية والشركة المصنعة وبلد المنشأ	اسم المادة	تسلسل
	DDP الى مكان المستخدم النهائي مع الخدمات التقوية		عدد الاجهزة		(c)	(ب)
	[(c)+(ب)]= (د)					
458,700	3,300	CHINA	139	Closed platelet agitator for blood bank		3
780,000	20,000	CHINA	39	Blood bag floor standing centrifuge (Floor centrifuge)		12
1,037,000	8,500	CHINA	122	Deep freezer		15
1,240,000	8,000	Italy	155	Refrigerator for central blood bank		17
735,000	7,000	CHINA	105	Plasma thawing		22

مبلغ العطاء بالدولار الأمريكي : 4,250,700 اربعة ملايين ومائتان وخمسون الف و سبعمائة دولار امريكي .



Republic of Iraq

3. Price Schedule for Goods to be imported from Abroad

1 National Code	2 Brief Description of Goods Product (a)		3 Quantity Offered & Physical Unit	4 Country of Origin	5 Price per physical unit (Bidder may permissible Currency)					6 Total Price on DDP/Free Delivery at End-user, site.(US Dollar) 3x5(d)	
					CIP price per unit	CIP price per pack (Bidder may insert place of destination) (a)	DDP at End-user, site (b)	Incidental services as defined in schedule of Requirement (c)	DDP at End-user, site & Incidental Series (d) =((b)+(c))		
N/A	<p><b>Kimadia's Description:</b> Centrifuge, khan type.</p> <p><b>Option 1:</b></p> <p><b>Offered product:</b> KC-60X Low speed, benchtop, ventilated Centrifuge, equipped with fixed angle Rotor.</p> <p><b>Technical Data:</b>                      Max. Speed (rpm): 6000.                      Speed accuracy: ±10 rpm.                      Max. Capacity(ml): 12 x 10/15ml.                      Max. RCF (xg): 4387.                      Display: LCD.                      Time range: 0-99 min. 59 sec.                      Noise(dB(A): ≤55dB(A).                      Acceleration/Deceleration rates: 0-9                      Dimension (L x W x H): 420x320x240mm.                      Motor: Frequency Converter Motor                      Net weight (without rotor): 18kg.                      Power Supply: AC220V, 50Hz, 5A, 150W.</p> <p><b>Warranty &amp; Maintenance for 5 years included in the offer.</b></p> <p>OR</p>		1	202	CHINA	USD 1.565,00	USD 1.565,00	FOC	N/A	USD 1.565,00	USD 316.130,00

<p><b>Option 2:</b></p> <p><b>Offered product:</b> KC-60X Low speed, benchtop, ventilated Centrifuge, equipped with swing Rotor.</p> <p><b>Technical Data:</b>                      Max. Speed (rpm): 4000.                      Speed accuracy: ±10 rpm.                      Max. Capacity(ml): 4 x 4 x 5/10/15ml                      Max. RCF (xg): 2593.                      Display: LCD.                      Time range: 0-99 min. 59 sec.                      Noise(dB(A): ≤55dB(A).                      Acceleration/Deceleration rates: 0-9                      Dimension (L x W x H): 420x320x240mm.                      Motor: Frequency Converter Motor                      Net weight (without rotor): 18kg.                      Power Supply: AC220V, 50Hz, 5A, 150W.</p> <p><b>Warranty &amp; Maintenance for 5 years included in the offer.</b></p> <p>OR</p>		1	202	CHINA	USD 1.620,00	USD 1.620,00	FOC	N/A	USD 1.620,00	USD 327.240,00
<p><b>Option 3:</b></p> <p><b>Offered product:</b> KC-60X Low speed, benchtop, ventilated Centrifuge, equipped with swing Rotor.</p> <p><b>Technical Data:</b>                      Max. Speed (rpm): 4000.                      Speed accuracy: ±10 rpm.                      Max. Capacity(ml): 4 x 6 x 5/10ml                      Max. RCF (xg): 2593.                      Display: LCD.                      Time range: 0-99 min. 59 sec.                      Noise(dB(A): ≤55dB(A).                      Acceleration/Deceleration rates: 0-9                      Dimension (L x W x H): 420x320x240mm.                      Motor: Frequency Converter Motor</p>		1	202	CHINA	USD 1.595,00	USD 1.595,00	FOC	N/A	USD 1.595,00	USD 322.190,00

<p>Net weight (without rotor): 18kg. Power Supply: AC220V, 50Hz, 5A, 150W.</p> <p>Warranty &amp; Maintenance for 5 years included in the offer.</p>									
<p><b>Kimadia's Description: Centrifuge, plain type.</b></p> <p><b>Option 1:</b></p> <p><b>Offered product:</b> KC-60X Low speed, benchtop, ventilated Centrifuge, equipped with fixed angle Rotor.</p> <p><b>Technical Data:</b> Max. Speed (rpm): 6000. Speed accuracy: ±10 rpm. Max. Capacity(ml): 12 x 10/15ml. Max. RCF (xg): 4387. Display: LCD. Time range: 0-99 min. 59 sec. Noise(dB(A)): ≤55dB(A). Acceleration/Deceleration rates: 0-9 Dimension (L x W x H): 420x320x240mm. Motor: Frequency Converter Motor Net weight (without rotor): 18kg. Power Supply: AC220V, 50Hz, 5A, 150W.</p> <p>Warranty &amp; Maintenance for 5 years included in the offer.</p> <p>OR</p>	1	154	CHINA	USD 1.565,00	USD 1.565,00	FOC	N/A	USD 1.565,00	USD 241.010,00
<p><b>Option 2:</b></p> <p><b>Offered product:</b> KC-60X Low speed, benchtop, ventilated Centrifuge, equipped with swing Rotor.</p>	1	154	CHINA	USD 1.620,00	USD 1.620,00	FOC	N/A	USD 1.620,00	USD 249.480,00



/ Number: LAB/2025/4  
 ting Entity: Ministry of Health/Environment/The State Company for Marketing  
 Medical Appliances (Kimadia)

igs Medical Appliances (Kimadia)

<p><b>Technical Data:</b>  Max. Speed (rpm): 4000.  Speed accuracy: ±10 rpm.  Max. Capacity(ml): 4 x 4 x 5/10/15ml  Max. RCF (xg): 2593.  Display: LCD.  Time range: 0-99 min. 59 sec.  Noise(dB(A): ≤55dB(A).  Acceleration/Deceleration rates: 0-9  Dimension (L x W x H): 420x320x240mm.  Motor: Frequency Converter Motor  Net weight (without rotor): 18kg.  Power Supply: AC220V, 50Hz, 5A, 150W.</p> <p><b>Warranty &amp; Maintenance for 5 years included in the offer.</b></p> <p>OR</p>			<p style="text-align: center;">VRS</p> <div style="border: 1px solid black; padding: 5px; width: fit-content; margin: auto;"> <p style="text-align: center;">الشركة العامة  لتسويق الأدوية والمستلزمات الطبية  لجنة استلام وتنفيذ عروض التوريدات  العدد / التاريخ</p> <p style="text-align: center;">٢٠٢٢ / /</p> </div>						
<p><b>Option 3:</b></p> <p><b>Offered product:</b> KC-60X Low speed, benchtop, ventilated Centrifuge, equipped with swing Rotor.</p> <p><b>Technical Data:</b>  Max. Speed (rpm): 4000.  Speed accuracy: ±10 rpm.  Max. Capacity(ml): 4 x 6 x 5/10ml  Max. RCF (xg): 2593.  Display: LCD.  Time range: 0-99 min. 59 sec.  Noise(dB(A): ≤55dB(A).  Acceleration/Deceleration rates: 0-9  Dimension (L x W x H): 420x320x240mm.  Motor: Frequency Converter Motor  Net weight (without rotor): 18kg.  Power Supply: AC220V, 50Hz, 5A, 150W.</p>	1	154	CHINA	USD 1.595,00	USD 1.595,00	FOC	N/A	USD 1.595,00	USD 245.630,00



Warranty & Maintenance for 5 years included in the offer.										
<b>Kimadia's Description: Gel Card Centrifuge.</b>  <b>Option 1:</b>  <b>Offered product: XK-12B, 12 Card.</b> Desktop, low speed Blood Gel Card Centrifuge, equipped with 12 Card Rotor.  <b>Technical Data:</b> Max. Speed (rpm): 3500. Capacity(ml): 12 Cards. Max. RCF (xg):1232xg. Display: LCD. Time range: 0-99 min. Dimension (L x W x H): 430x320x250mm. Net weight: 13kg. Noise:dB(A): ≤50dB(A). Power Supply: AC220V, 50Hz, 5A, 60W.  <b>Warranty &amp; Maintenance for 5 years included in the offer.</b>  <b>OR</b>	1	168	CHINA	USD 1.435,00	USD 1.435,00	FOC	N/A	USD 1.435,00	USD 241.080,	
<b>Option 2:</b>  <b>Offered product: XK-12B, 24 Card.</b> Desktop, low speed Blood Gel Card Centrifuge, equipped with 24 Card Rotor.  <b>Technical Data:</b> Max. Speed (rpm): 3500. Capacity(ml): 24 Cards. Max. RCF (xg): 1554xg.	1	168	CHINA	USD 1.495,00	USD 1.495,00	FOC	N/A	USD 1.495,00	USD 251.160,0	

التوريدات الحكومية والمختبرات الصحية  
 لجنة أمناء ومكتب توريدات المختبرات الصحية  
 العدد / التاريخ  
 ٢٠٢ / /



/ Number: LAB/2025/4  
 ting Entity: Ministry of Health/Environment/The State Company for Marketing  
 Medical Appliances (Kimadia)

Item Description	QTY	UNIT	COUNTRY	UNIT PRICE (USD)	TOTAL PRICE (USD)	DELIVERY	WARRANTY	UNIT PRICE (USD)	TOTAL PRICE (USD)
<p>Display: LCD. Time range: 0-99 min. Dimension (L x W x H): 440x400x230mm. Net weight: 22kg. Noise: dB(A): ≤50dB(A). Power Supply: AC220V, 50Hz, 5A, 60W.</p> <p>Warranty &amp; Maintenance for 5 years included in the offer.</p>									
<p><b>Kimadia's Description: Blood bag floor standing centrifuge (Floor centrifuge).</b></p> <p><b>Offered product: CVR-80B Large Capacity Refrigerated Blood Bag Centrifuge.</b></p> <p><b>Technical Data:</b> Max. Speed (rpm): 4000. Max.Capacity:6 x 2400ml OR 12pcs of 500ml blood bags. Max RCF: 5330xg. Temperature range: -20°C~ +40°C, adjustable. Time range: 0- 99min. 59 sec, adjustable. Display: Touch screen. Dimension (L x W x H): 940x890x100mm. Net weight (with rotor): 580kg. Noise: dB(A): ≤65dB(A). Power Supply: AC220V, 50Hz, 15A.</p> <p>Warranty &amp; Maintenance for 5 years included in the offer.</p>	1	39	CHINA	USD 26.500,00	USD 26.500,00	FOC	N/A	USD 26.500,00	USD 1.033.500,00
<p><b>Kimadia's description: Electric Blood Donation Chair.</b></p> <p><b>Offered Product: SKE-134 Electric dialysis Chair.</b></p>	1	170	CHINA	USD 1.395,00	USD 1.395,00	FOC	N/A	USD 1.395,00	USD 237.150,00

<p><b>Technical Data:</b> Size (L x W): 1910mm*580mm (seat width) (±10mm) Back:780*580mm(±10mm). Seat: 480*580mm(±10mm). Leg: 530*580mm(±10mm). Arm:500 *180mm(±10mm). Mattress thickness: 70mm(±10mm). Functions: Back-rest Adjustment:(-8°-70°) (±5°). Knee-rest Adjustment: -50 °-0° (±5°). Height adjustment:550-700mm(±10mm). Armrests swing out: 0°-270°. Armrest height adjustment:70mm. Foot board adjustable distance: 150mm(±10mm). With CPR. Technical Configuration. 3"Silent Castor: 1set. Small Dining table: 1pc. IV Pole Weight:108kg/NET WEIGHT, 128KG/G.W. Colour: green</p> <p>Warranty &amp; Maintenance for 5 years included in the offer.</p>									
---	--	--	--	--	--	--	--	--	--

Grand Total of Bid price: USD 2.098.530,00 - US Dollars Two Million Ninety-Eight Thousand Five Hundred Thirty Only

THE BIDDER SHALL BE RESPONSIBLE FOR THE INCOTERMS® current edition - CIP.

No.	Item O	Qty.	Unit price (USD)	Total price(USD)
1.	Yingtai iSeal-100 Tube Sealer Blood bag tube sealer (single)	330	2,500	825,000
2.	Gel Card Incubator FYQ-100 Gel Card Incubator	85	1,300	110,500
3.	Deep freeze LABORATORY ULTRALOW TEMPERATURE FREEZERS SMU678	122	10,900	1,329,800
4.	BLOOD BANK REFRIGERATORS FE70G1EVO - Full touch control panel	155	8,900	1,379,500
5.	Khan tube Compact Centrifuge Z 206 A Adapter 1 x 4-7 ml Vacut.®	202	1,700	343,400
6.	Plain tube Compact Centrifuge Z 206 A Angle rotor 12 x 15 ml	154	1,650	254,100
<b>Total price : 4,242,300</b>				
اربعة مليون و مئتان و اثنان و اربعون الف و ثلاثمئة دولار امريكي				

٥- شركة التخصصية لتجارة الاجهزة والمستلزمات المختبرية والطبية

يسرنا ان نقدم لكم عرضنا وكما موضح ادناه , راجين ان ينال عرضنا استحسانكم.

#	Items	العدد	السعر المفرد \$	السعر الكلي \$
1.	closed platelet agitator for blood bank	139	2,900	403,100
2.	blood bag tube sealer	330	3,500	1,155,000
3.	electric blood donation chair	170	1,445	245,650
4.	centrifuge khan type	202	1,260	254,520
5.	centerifuge plain type	154	1,260	194,040
6.	gel card centerifuge	168	1,250	210,000
7.	floor centerifuge	39	22,640	882,960
8.	automatic tube stripper	85	3,860	328,100
9.	deep freezer	122	6,930	845,460
10.	refrigerator for blood bank	155	5,515	854,825
المجموع الكلي				\$ 5,373,655
خمسة ملايين وثلاثمائة وثلاثة وسبعين الف وستمائة وخمسة وخمسين دولار فقط				

٦-شركة الجيل القادم

مكتب الخدمات المختبرية

Item		Qty	Estimated cost USD For one device with service cost	Company price for one device with service cost USD
<b>Floor Centrifuges</b>		<b>39</b>	<b>36.716</b>	<b>32.000 USD</b>
Application	separate suspended particles of blood bags different densities separated blood components			
CE or FDA	YES , FDA is preferred			
Rotational speed				

Item		QTY	Estimated cost USD For one device	Company price for one device
<b>1- blood bag tube sealer(multiple)</b>		<b>324</b>	<b>4,500</b>	<b>3,500\$</b>
Purpose	to seal blood bags tubes			

ITEM	DESCRIPTION & SPECIFICATIONS	QTY	UNIT	UNIT PRICE (IQD)	TOTAL (IQD)
2	Service of Automatic Plasma Expressor (SS Body)	175	Each	225,000.00	39,375,000.00
3	Service of Platelet Incubator	139	Each	825,000.00	114,675,000.00
5	Service of Blood Bag Tube Sealer	330	Each	225,000.00	74,250,000.00
6	Service of Electronic Blood Transfusion Chair / 4 Motor	170	Each	300,000.00	51,000,000.00
9	Service of Centrifuge khan type Includes the below	202	Each	450,000.00	90,900,000.00
10	Service of Centrifuge plain type	154	Each	450,000.00	69,300,000.00
11	Service of Gel Card Centrifuge	168	Each	375,000.00	63,000,000.00
12	Service of Blood Bag Floor Standing Centrifuge	39	Each	7,500,000.00	292,500,000.00
13	Service of Blood Collection Monitor	226	Each	150,000.00	33,900,000.00
14	Service of Automatic Tube Stripper	85	Each	375,000.00	31,875,000.00
15	Service of Deep freezer	122	Each	2,850,000.00	347,700,000.00
16	Service of Quick Freezer	22	Each	7,500,000.00	165,000,000.00
17	Service of TSX Series High-Performance Blood Bank Refrigerators 650L	155	Each	4,500,000.00	697,500,000.00
19	Service of Gel Card Incubator	105	Each	375,000.00	39,375,000.00
20	Service of Portable fridge cooler box	272	Each	600,000.00	163,200,000.00
21	Service of Precision balance	78	Each	150,000.00	11,700,000.00
22	Service of Blood Thawing Machine	105	Each	1,500,000.00	157,500,000.00

#### Terms & Conditions

- Payment Terms:**
  - Net upon material delivery
- Delivery Terms:** DDP - Customer Warehouse
- Quality Assurance:** All items are subject to our standard quality control procedures
- Technical Support:** Comprehensive technical documentation and support included

Subtotal: 2,442,750,000.00 IQD

**Grand Total: 2,442,750,000.00 IQD**

#### Amount in Words:

IQD Two Billion, Four Hundred And Forty Two Million, Seven Hundred And Fifty Thousand only.

ITEM	DESCRIPTION & SPECIFICATIONS	QTY	UNIT	UNIT PRICE (IJD)	TOTAL (IJD)
2	Automatic Plasma Expressor (SS Body) <b>Manufacturer/Origin:</b> Bioline-India <b>Part Number:</b> BEPE 2008E	175	Each	1,136,000.00	198,800,000.00
3	Platelet Incubator <b>Manufacturer/Origin:</b> SciTek -China <b>Part Number:</b> ICP -P10	139	Each	3,550,000.00	493,450,000.00
5	Blood Bag Tube Sealer <b>Manufacturer/Origin:</b> SciTek -China <b>Part Number:</b> TS-BB6	330	Each	1,136,000.00	374,880,000.00
6	Electronic Blood Transfusion Chamber Motor <b>Manufacturer/Origin:</b> T-Health-Turkey <b>Part Number:</b> TE 600	170	Each	2,059,000.00	350,030,000.00
9	<b>Centrifuge khan type</b> <b>Includes the following:</b> <b>Manufacturer/Origin:</b> ThermoFisher	202	Each	3,905,000.00	788,810,000.00
9.1	Heraeus Megafuge 8, 230V <b>Manufacturer/Origin:</b> ThermoFisher-China <b>Part Number:</b> 75007211	202	Each	0.00	0.00
9.2	CLINIConic Fixed-Angle Rotor 5,650 rpm 15 mL Round/conical bottom tube (30 tube x 15 ml ) <b>Manufacturer/Origin:</b> ThermoFisher-Germany <b>Part Number:</b> 75003623	202	Each	0.00	0.00
9.3	10 mL Round bottom tube (30 TUBE x 10 ML) <b>Manufacturer/Origin:</b> ThermoFisher-France <b>Part Number:</b> 75008817	202	Each	0.00	0.00



*(Handwritten signature)*



Handwritten notes in Arabic script at the top left of the page.

Handwritten notes in Arabic script on the left side of the page.

Handwritten signature or initials at the bottom left of the page.



Handwritten notes in Arabic script at the bottom right of the page.

ITEM	DESCRIPTION & SPECIFICATIONS	QTY	UNIT	UNIT PRICE (IQD)	TOTAL (IQD)
12	<b>Blood Bag Floor Standing Centrifuge</b> Includes the following: Manufacturer/Origin: ThermoFisher	39	Each	38,502,000.00	1,501,578,000.00
12.1	Cryofuge 8 and 16 Large Capacity Blood Banking Centrifuge with innovative GreenCool Technology Manufacturer/Origin: ThermoFisher-Germany Part Number: 75008510	39	Each	0.00	0.00
12.2	HAEMAFlex 12 Swinging Bucket Rotor 12 x 500 mL blood bags Manufacturer/Origin: ThermoFisher-Germany Part Number: 75003862	39	Each	0.00	0.00
12.3	Double Blood Bag Bucket Manufacturer/Origin: ThermoFisher-Germany Part Number: 75003846	39	Each	0.00	0.00
12.4	Double Quint Blood Bag Adapter for XXL size, HD (110 x 88 mm) Manufacturer/Origin: ThermoFisher-Germany Part Number: 75003899	36	Each	0.00	0.00
13	Blood Collection Monitor Manufacturer/Origin: SoTek-China Part Number: BCM-B	226	Each	1,065,000.00	240,690,000.00
14	Automatic Tube Stripper Manufacturer/Origin: Bioline-India Part Number: ATS2015	85	Each	1,562,000.00	132,770,000.00
15	<b>Deep freezer</b> Includes the following: Manufacturer/Origin: ThermoFisher	122	Each	11,360,000.00	1,385,920,000.00
15.1	TDE Series -86°C Ultra-Low Temperature Freezers 422L Manufacturer/Origin: ThermoFisher-China Part Number: TDE30086FV-ULTS	122	Each	0.00	0.00
15.2	Chart Recorders for Ultra-Low Temperature Freezers Manufacturer/Origin: ThermoFisher-USA Part Number: 6383-6V	122	Each	0.00	0.00
15.3	Stainless Steel Interior option for STP FDE, TDE ULT; Factory Installed Manufacturer/Origin: ThermoFisher-China Part Number: SS34567-ULTS	122	Each	0.00	0.00
15.4	7" display with USB port for data download Manufacturer/Origin: ThermoFisher-China Part Number: UI34567H-ULTS	122	Each	0.00	0.00
16	Quick Freezer Manufacturer/Origin: SoTek-China Part Number: BF-300L	22	Each	15,620,000.00	343,640,000.00

ITEM	DESCRIPTION & SPECIFICATIONS	QTY	UNIT	UNIT PRICE (IQD)	TOTAL (IQD)
17	TSX Series High-Performance Blood Bank Refrigerators 650L <b>Manufacturer/Origin:</b> ThermoFisher-USA <b>Part Number:</b> TSX2304BV	155	Each	14,910,000.00	2,311,050,000.00
17.1	Stainless steel interior finish <b>Manufacturer/Origin:</b> ThermoFisher-USA <b>Part Number:</b> 6115-AVL	155	Each	0.00	0.00
19	Gel Card Incubator <b>Manufacturer/Origin:</b> SciTek-China <b>Part Number:</b> RCI-24	105	Each	1,432,000.00	150,360,000.00
20	Portable fridge cooler box <b>Manufacturer/Origin:</b> SciTek-China <b>Part Number:</b> PR-105	272	Each	852,000.00	231,744,000.00
21	Precision balance <b>Manufacturer/Origin:</b> Kern-hina <b>Part Number:</b> PLJ 1200-3A	78	Each	1,278,000.00	99,684,000.00
22	Blood Thawing Machine <b>Manufacturer/Origin:</b> SciTek-China <b>Part Number:</b> BTM-IIIW	105	Each	7,100,000.00	745,500,000.00

### Terms & Conditions

1. **Payment Terms:**

- Net upon material delivery

2. **Delivery Terms:** DDP - Customer Warehouse

3. **Quality Assurance:** All items are subject to our standard quality control procedures

4. **Technical Support:** Comprehensive technical documentation and support included

Subtotal: 10,199,770,000.00 IQD

**Grand Total: 10,199,770,000.00 IQD**

**Amount in Words:**

IQD Ten Billion, One Hundred And Ninety Nine Million, Seven Hundred And Seventy Thousand only.

2/1

## ٨- شركة ميدهوب لتجارة اجهزة الطب

الجدول التالي رقم (1) يوضح الامور الفنية والمالية الخاصة بالمنافسة اعلاه.

No.	اسم الجهاز	موديل الجهاز	اسم الشركة والمنشأ	عدد الاجهزة	السعر بالدولار	السعر الكلي بالدولار
1.	Rapid portable Hemoglobin meter	Hb301	HemoCue / Sweden	98	مجانا	مجانا
2.	Plasma Low Hb System (Plasma Low Hemolysis Meter).	Plasma / Low Hb	HemoCue / Sweden	42	210 \$	8,820 \$
3.	Electric Plasma Expresser.	ES315	CENTRON / Korea	175	875 \$	153,125 \$
4.	Blood Bag Floor Standing Centrifuge (Floor Centrifuge)	REGINA	AFI-FRANCE	39	29,000\$	1,131,000\$
5.	Gel Card Centrifuge	TD2-24	HAI-CHINA	168	1,300\$	218,400\$
6.	Gel Card Incubator	K37-24	HAI-CHINA	105	1,100\$	115,500\$
7.	Refrigerator for Central Blood Bank	BB-PGM07G	DESMON-ITALY	155	15,000\$	2,325,000
8.	PLASMA THAWING SYSTEM.	DH4	HELMER SCIENTIFIC - USA	105	7,500	787,500
المجموع الكلي: \$ 4,739,345 اربعة ملايين وسبعمئة وتسعة وثلاثون الفا وثلاثمئة وخمسة واربعون دولارا واصل الي مخازن الشركة العامة لتسويق الادوية والمستلزمات الطبية في بغداد.						

Handwritten notes and stamps on the left side of the table:

- Red circular stamp: "مكتب النجيب" (Al-Najib Office)
- Handwritten signature: "م. ك. ك." (M. K. K.)
- Handwritten number: "7/2"

1			2		3	4	5				6
National No.	Seller Code No.	Item No.	Brief Description of Laboratory Supplies and Equipment ##		Quantity offered and physical unit	Country of Origin	Price per physical unit [Bidder may insert permissible Currency]				Total price on DDP at End-users' site along with Incidental Services 3*5(d)
			Product	Packing Unit Size			CIP price [Bidder may insert place of destination]	DDP at End-users' site	incidental Services as defined in Contract Requirements List	DDP at End-users' site and Incidental Services	
(a)	(b)	(c)	(a)	(b)			(a)	(b)	(c)	(d) = [(b) + (c)]	
[Insert]	[Insert]	[Insert]	[Insert]	[Insert]							
[Insert]	[Insert]	[Insert]	[Insert]	[Insert]							
[Insert]	[Insert]	[Insert]	[Insert]	[Insert]							

Pos.	KIMADIA DESCRIPTION	KIMADIA No.	COMPANY No.	COMPANY DESCRIPTION	COMPANY	ORIGIN	QTY	Unit	Unit/USD	Total/USD
<b>1 Rapid portable Hemoglobin meter</b>										
1	Rapid portable Hemoglobin meter		90C.0100	Diaspect Tm	Diaspect Medical GmbH	GERMANY	98	Unit	\$600.00	FOC
2		HEM-DE00-009	90C.0001	Diaspect cuvettes	Diaspect Medical GmbH	GERMANY	5000	Strip	\$1.20	FOC

Total Offered Items in USD: \$0.00

١٠- مكتب الطبيات العلمي

الأجهزة المختبرية الخاصة بمراكز نقل الدم ومستلزمات سيدات البرع بمحويات اسم مما مبين بالجدول التالي .

No	Item اسم الجهاز	Origin اسم المصنع والمنشأ	Qty الكمية	Unit price in USD سعر المفرد بالدولار الامريكي	Total price in USD السعر الكلي بالدولار الامريكي
1-	Rapid portable hemoglobin meter Model: Hemochroma PLUS	Boditech -Korea	98	\$ 481	\$ 47,138
Total price					<b>\$ 47,138</b>
المجموع الكلي بالدولار الامريكي					سبعة واربعون الف ومائة وثمانية وثلاثون دولار امريكي

تمثل الجهاز حسب الإعلان	Item	Qty	Option 1	Option 2	Option 3	Total
4	Apheresis units	30	\$27,000			\$810,000
11	Gel card centrifuge	168	\$1,250			\$210,000
12	Floor centrifuge ( blood bag floor standing centrifuge)	39	\$27,000			\$1,053,000
15	Deep freezer	122	\$8,000			\$976,000
16	Plasma shock freezer	22	\$31,000			\$682,000
17	Refrigerator for central blood bank	155	\$15,000	\$15,500	\$16,800	\$2,325,000
18	Gel card reader	105	\$4,000			\$420,000
19	Gel card incubator	105	\$1,250			\$131,250
20	Cold box (portable fridge cooler box)	272	\$3,600			\$979,200
22	Plasma Thawing	105	\$8,000			\$840,000
المجموع الكلي : فقط ثمانية ملايين وأربعمائة وستة وعشرون ألفاً وأربعمائة وخمسون دولار لا غير						\$8,426,450

COMMERCIAL OFFER										
Pos.	KIMADIA DESCRIPTION	KIMADIA No.	COMPANY No.	COMPANY DESCRIPTION	COMPANY	ORIGIN	QTY	Unit	Unit/USD	Total/USD
<b>4 Apheresis units blood donor</b>										
1	Apheresis units blood donor		6R4590	AMICUS Life Extension	Fresenius Kabi AG	GERMANY	30	Unit	FOC	FOC
2	Platelet collection set	DIS-DE22-123	R6R2317C	AMICUS DISPOSABLE KIT SN PLT CC	Fresenius Kabi AG	Haina -DO	57850	Pcs.	\$270.00	\$15,619,500.00
3	Anticoagulant Bags	DIS-DE22-124	TC14025	ACD-A / 500 ml	Fresenius Kabi AG	Czech Rep.	57150	Pcs.	\$20.00	\$1,143,000.00
			TC14029	ACD-A / 1000 ml ( Optional)	Fresenius Kabi AG	Czech Rep.	57150	Pcs.	\$25.00	\$1,428,750.00
4	Blood bag tube sealer single		9027011	Composeal Mobelia II (Portable)	Fresenius Kabi AG	GERMANY	10	Unit	\$4,500.00	FOC
5	Blood collection monitor ( Mixer)		9029601	CompoGuard-Basic	Fresenius Kabi AG	GERMANY	10	Unit	\$6,000.00	FOC
							<b>172200</b>			<b>\$17,048,250.00</b>
<b>The Multi Procedural Apheresis Platform ( COM.TECH)</b>										
1	Apheresis system set	DIS-DE22-125	940401C	PL1 RED CELL / PLASM	Fresenius Kabi AG	Haina -DO	15015	Pcs.	\$345.00	\$5,180,175.00
2	stem cell collection set	DIS-DE22-126	940431C	P1YA CC	Fresenius Kabi AG	Haina -DO	690	Pcs.	\$370.00	\$255,300.00
3	Anticoagulant Bags	DIS-DE22-124	TC14025	ACD-A / 500 ml	Fresenius Kabi AG	Czech Rep.	15675	Pcs.	\$20.00	\$313,500.00
			TC14029	ACD-A / 1000 ml ( Optional)	Fresenius Kabi AG	Czech Rep.	15675	Pcs.	\$25.00	\$391,875.00
4	FOC Device / ( COM.TECH)		9008021	COM.TEC 100-240V / 5	Fresenius Kabi AG	GERMANY	8	Unit	\$77,000.00	FOC
							<b>47063</b>			<b>\$5,827,350.00</b>
<b>5 Blood bag tube sealer single</b>										
1	Blood bag tube sealer single		9027011	Composeal Mobelia II (Portable)	Fresenius Kabi AG	GERMANY	330	Unit	\$4,500.00	\$1,485,000.00
							<b>330</b>			<b>\$1,485,000.00</b>
<b>8 Automated blood component extractor (separator)</b>										
1	Automated blood component extractor (separator)		9026501	Compomat G5 PLUS	Fresenius Kabi AG	GERMANY	15	Unit	\$120,000.00	\$1,800,000.00
							<b>15</b>			<b>\$1,800,000.00</b>
1	Blood collection monitor ( Mixer)		9029601	CompoGuard-Basic	Fresenius Kabi AG	GERMANY	226	Unit	\$6,000.00	\$1,356,000.00
							<b>226</b>			<b>\$1,356,000.00</b>
<b>Total Offered Items in USD:</b>										<b>\$27,516,600.00</b>

Grand Total of Bid price: [In Iraqi Dinar] 27,516,600 \$ (In figures)

Twenty seven million – five hundred sixteen thousand and six hundred dollars (In words)

د. عطوي محمد ميرزا  
رئيس لجنة استلام وفتح